Solution to Harvard Puzzle "Land Sakes"
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The omitted letters (in parentheses in the list below) spell
EDWIN LAND
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SCIENCE
NETWORK

RETRI(E)VE

SPEED
BOILER
PE(D)DLER
USER
CALDERA
CENSOR

. ARRIVED
. (W)AIVE
. TENDER
. ATTEST

. APE

. SITUATE
. ERASE

. MART(I)AN
. SAMPLE
. SEINE

. ALPI(N)E
. CENTER

Down
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10.
11.
12.
13.
14.
15.
16.
17.
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19.
20.
21.
22.
23.
24.

S(L)OPE
LATTE
SACRED
DREAR
ALIKE
LE(A)RN
PAMPER
DERIDE
SPINE
BRAVE
SELECT
OU(N)CE
RIME
CERISE
DATA
SENILE
NATURE
NEVER
SITA
TITTER
COVET
ANEW
SPARE
SEN(D)ER

Kevin Wald solved the puzzle in 25 minutes.



